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1. The value of ∆ = |
12 22 32

22 32 42

32 42 52|, is
a) 8 b) ―8 c) 400 d)1

2. The factors of |
𝑥 𝑎 𝑏𝑎 𝑥 𝑏𝑎 𝑏 𝑥| are

a) 𝑥 ― 𝑎, 𝑥 ― 𝑏, and 𝑥 + 𝑎 + 𝑏
b)𝑥 + 𝑎,𝑥 + 𝑏 and 𝑥 + 𝑎 + 𝑏
c) 𝑥 + 𝑎,𝑥 + 𝑏 and 𝑥 ― 𝑎 ― 𝑏
d)𝑥 ― 𝑎, 𝑥 ― 𝑏 and 𝑥 ― 𝑎 ― 𝑏

3. Coefficient of 𝑥 in𝑓(𝑥) = |
𝑥 (1 + sin𝑥)2 cos𝑥
1 log(1 + 𝑥) 2𝑥2 (1 + 𝑥)2 0

|, is
a) 0

b)1

c) ―2

d)Cannot be determined

4. If 𝑎 ≠ 𝑏,𝑏,𝑐 satisfy |
𝑎 2𝑏 2𝑐
3 𝑏 𝑐
4 𝑎 𝑏 | = 0, then 𝑎𝑏𝑐 =

a)𝑎 + 𝑏 + 𝑐 b)0 c) 𝑏3 d)𝑎𝑏 + 𝑏𝑐
5. Which one of the following is correct? 

If 𝐴 non-singular matrix, then 

a) det (𝐴―1) =det (𝐴) b)det (𝐴―1)=
1

det (𝐴) c) det (𝐴―1) = 1 d)None of these

6. If |
𝑎 𝑏 0
0 𝑎 𝑏𝑏 0 𝑎| = 0, then

a)𝑎 is one of the cube roots of unity b)𝑏 is one of the cube roots of unity

c) (𝑎𝑏) is one of the cube roots of unity d)(𝑎𝑏) is one of the cube roots of ―1
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7. If |
𝑏 + 𝑐 𝑐 + 𝑎 𝑎 + 𝑏𝑎 + 𝑏 𝑏 + 𝑐 𝑐 + 𝑎𝑐 + 𝑎 𝑎 + 𝑏 𝑏 + 𝑐| = 𝑘|

𝑎 𝑏 𝑐𝑐 𝑎 𝑏𝑑 𝑐 𝑎|, then the value of 𝑘, is
a) 1 b)2 c) 3 d)4

8. If the value of the determinant |
𝑎  1  1
1  𝑏  1
1  1  𝑐|is positive, then

a)𝑎𝑏𝑐 > 1 b)𝑎𝑏𝑐 > ―8 c) 𝑎𝑏𝑐 < ―8 d)𝑎𝑏𝑐 > ―2

9. The value of the determinant

|
cosα                   ― sinα     1
sinα                      cosα      1
cos(α + β) ― sin(α + β)  1

|is
a) Independent of α b) Independent of β
c) Independent of α and β d)None of these

10. If 𝐵 is a non-singular matrix and 𝐴 is a square matrix such that 𝐵―1𝐴𝐵 exists, then det (𝐵―1𝐴𝐵) 

is equal to

a) det (𝐴―1) b)det (𝐵―1) c) det (𝐵) d)det (𝐴)
11. If matrix [

0 1 ―2―1 0 3𝜆 ―3 0 ]is singular, then 𝜆 is equal to

a) ―2 b) ―1 c) 1 d)2

12. If 𝑥,𝑦,𝑧 are in AP, then the value of the det 𝐴 is, where𝐴 = |
4
5
6𝑥 

5
6
7𝑦 

6
7
8𝑧 

𝑥𝑦𝑧
0

|
a) 0 b)1 c) 2 d)None of these

13. If ∆𝑟 = |
1 𝑛 𝑛2𝑟 𝑛2 + 𝑛 + 1 𝑛2 + 𝑛2𝑟 ― 1 𝑛2 𝑛2 + 𝑛 + 1

| and ∑𝑛𝑟=1 ∆𝑟 = 56, then 𝑛 equals

a) 4 b)6 c) 7 d)8

14. |
1 𝑎 𝑎2 ― 𝑏𝑐
1 𝑏 𝑏2 ― 𝑎𝑐
1 𝑐 𝑐2 ― 𝑎𝑏| is equal to

a) 0 b)𝑎3 + 𝑏3 + 𝑐3 ―3𝑎𝑏𝑐
c) 3𝑎𝑏𝑐 d)(𝑎 + 𝑏 + 𝑐)3

15. If the matrix 𝑀𝑟 is given by 𝑀𝑟 = [ 𝑟 𝑟 ― 1𝑟 ― 1 𝑟 ] 𝑟 = 1, 2, 3..., then the value of det (𝑀1) +

det(𝑀2) + ... + det (𝑀2008) is
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a) 2007 b)2008 c) (2008)2 d)(2007)2

16. If 𝜔 is the cube root of unity, then |
1 𝜔 𝜔2𝜔 𝜔2 1𝜔2 1 𝜔 | is equal to

a) 1 b)0 c) 𝜔 d)𝜔2

17. If 1,𝜔,𝜔2are the cube roots of unity, then ∆ = |
1 𝜔𝑛 𝜔2𝑛𝜔𝑛 𝜔2𝑛 1𝜔2𝑛 1 𝜔𝑛 | is equal to

a) 0 b)1 c) 𝜔 d)𝜔2

18. The value of the following determinant is∆ = |
1 1 1𝑎 𝑏 𝑐𝑎3 𝑏3 𝑐3|

a) (𝑎 ― 𝑏)(𝑏 ― 𝑐)(𝑐 ― 𝑎)(𝑎 + 𝑏 + 𝑐)b) 𝑎𝑏𝑐(𝑎 + 𝑏)(𝑏 + 𝑐)(𝑐 + 𝑎)
c) (𝑎 ― 𝑏)(𝑏 ― 𝑐)(𝑐 ― 𝑎) d)None of the above

19. The value of |
𝑏 + 𝑐 𝑎 𝑎𝑏 𝑐 + 𝑎 𝑏𝑐 𝑐 𝑎 + 𝑏|, is

a) 6 𝑎𝑏𝑐 b)𝑎 + 𝑏 + 𝑐 c) 4 𝑎𝑏𝑐 d)𝑎𝑏𝑐
20. The value of | log5729 log3 5

log5 27 log9 25||log3 5 log27 5
log5 9 log5 9 | is equal to

a) 1 b) 6 c) log5 9 d) log3 5. log5 81
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